LABJNDuS triangle lightness T*
=L*w

nc™ nc=100,

T
T*L aganpus =[IN[A 1n+A2Y)I/(A 20A0n)] (Yn/100<Y<=Y,c)
T*(3,6)=327.T*,(18)=744,T*(90)=1158

log[T*/T* ]=0, m=0,33

1
T*3, 6_327 12,1%;:7 l’:’ 79 Y=18

application
range

L]
1V\=36

V=18
1 Yy=90

LABJINDu8
tristimulus value difference
YacmL*w  nc=100,
T*LaBanpus =[N[(A 1n+A2a)I/(A 20A0n)] (Ync/L00<Y<=Y,0)
dY=Agn(A1tAsnY)  Ap=0,017, A,=0,0058
Aon, Deb‘l 5, Aon,a=1,0, see CIE 230:2019
Yg0=0,36, Ay,=1,000, ¢=0,67

dY;=0.08, A=0.011, Agn 0,0038
dY3,=0,02 Y,=18, dY=0,08

T*,=744 dY, dY, /Yy 0(‘J1‘.: o

log (AY/Y) LABJINDuUS
_ tristimulus value sensitivity
SHEYY Yoc=L*w - nc=100,

T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
AYIY=Agr A1 Az Y Y

(dY/Y=0,0040, Ay=1
(dY/Y)=0,0045, A =0 ,Ag
(dY/Y},=0,0070 Y, 1& dY=0,08

0, O

N
10g(dY/Y)E—2,34 m,=—0, e =
T*,=744 dY,=0,08 dY,/Y,~0,0045
'y,=18
)

application
range

Yn=3.6

LABJINDu8

tristimulus value contrast
Yo=L*w - 6 :ne=100,
T*LaBaNDus=[IN[(A 1n+A2nY)J/(A 2nA0n)] (Ya/100<Y<=Y,c)
YIAY=Y/[Agn(A1ntA2nY)]

(Y/dYy=249,21, A,=1,000, ¢=0,67
(Y/dY)g=221,29, A;=0,011, A,=0,0038
(Y/dY 141,84 Y,=18, dY=0,08

=744, dY,=0,08 Y,/dY, 221
Iog(YldY):Z 34 m= o 13,7

log (Y/AY)
C,=(Y/AY)

application
range

Y,=18
"Yw=90

LABJINDuS relative triangle lightness T*/T*,,

T,
YocmL*w

T,
T aganbus =[IN[A 1n+A2nY)V/(A20A0n)] (Yn/100<Y<=Y,c)
T#n(3,6)=327,T* ,(18)=744.T*,(90)=1158

T*odT*=L,55, Ay=1,000, G=0,67
T*, 20,011, A= o 0038
T g TA=0,43 TH=743,79 Y1

nc=100,

log[T*/T*,]=0, m,=0,33
L* =49, T* =744 1
1 application
f range
1y,=18
Yy =90

N=36

LABJNDuS relative
tristimulus value difference
Yoc=L*w - -nc=100,

log(A Y/AY i)
AYIAY,

T*Laganpus =[IN[A 1n+A2nY)V/(A 20A0n)] (Ynd/100<Y<=Y,c)
AYIY,=Ag A1 +AgYI/AY,

dYoo/dY,=4,43, Ay=1,000, ¢

AV YAv=1100. AT0,011, fos :o,oo
dY3gdY,=0,31 Y, 18, d(=0,08

log [(AY/Y) I (AYIY)] LABJINDUS relative
tistimulus value sensitivity

SSu=@YMIBYN)y . =\, - =100,
T*LABINDus =[IN[(A 1n+A2nY)J/(A 2nA0n)] (Yd/100<Y<=Yc)
(@YIYYAYY,=(AgitAg Y)Y (AYIYY]

(AY/Ypo/(dY/Y)=0,88, Ay=1,000, ¢=0,67
(YY) g/(dY/Y=1,00, An=0,011, A,=0,0038
(dv/Y%i/(dY/Y‘L 56 é"_m ay= 1508

log[(dY/YY(dY/Y),]=0, m=-0, 13 3
T*,=744, dY,=0,08 dY,/Y,=0,0045

1y,=18
=Clp log

application
range

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDUuS relative
tistimulus value contrast
CrlCr=(YIAVI(YIAY)y v 21'% > 100,

T*Laganpus =[IN[A 1n+A2nV)V/(A 20A0n)] (Yn/100<Y<=Y,c)

(YVIAYY(YIAY), =Y IYIAY Y)TA onAgrAgr VI (Y/AY),
(YIdYg/(Y/dY)=1,12, Ay=1,000, ¢=0,67
(Y/dY)g/(Y/dY)=L.00, An=0.011, /,=0,0038
(Y/dY%vd(Y/dY =0,64 Y, 218, dY=0.08

1
1 application
1 range
'y,=18

Yy =90




